
Using the Identity Matrix 

 

𝐴 = (
−1 3
2 −2

)      𝐵 = (
−2 0
4 5

) 

(a) Given that 𝐵 + 𝐶 = 𝐼, find 𝐶  

(b) Given that 𝐷 − 𝐴 = 𝐼, find 𝐷 

(c) Given that 𝐵 + 2𝐼 = 𝐸, find 𝐸  

 
 

(a) Given that  

(
𝑥 −2

−7 𝑦
) (

3 2
7 5

) = 𝐼 

Find the values of 𝑥 and 𝑦. 

(b) Given that  

(
4 −1

−7 2
) (

2 𝑝
𝑞 4

) = 𝐼 

Find the values of 𝑝 and 𝑞. 

 
 

(a) Find 𝐼2 

(b) Given that 2𝐴 + 𝐼2 = (
6 −4

−1 5
)  

    find 𝐴. 

 
 

(a) Given that (
𝑎 𝑏
𝑐 𝑑

) (
3 −2
4 −3

) = 𝐼 

     find the values of 𝑎, 𝑏, 𝑐 and 𝑑. 

(b) Given that (
−5 3
3 −2

) (
𝑎 𝑏
𝑐 𝑑

) = 𝐼 

     find the values of 𝑎, 𝑏, 𝑐 and 𝑑. 

(c) Given that 

(
𝑥

1

2
−2 𝑦

) (
1 𝑧

−
2

3
−

4

9

) = 𝐼2 

     find the values of 𝑥, 𝑦, and 𝑧. 
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